depth in meter

CTD pressure [dBar]

depth in meter

_50 L

-100

=150t

—4450

—4500

—-4550

-4600

—1000 |

-2000¢

-3000¢

—4000¢

108S station #137 (V2) Figure 4

start depth (.red) (.blue) Surface distance end depth
0 ..—'-o—.-w‘l—wﬁ—
S -50f
(O]
S
=
£ -100¢
Q.
[}
©
-150¢t
: : : -200 : : : :
50 100 150 200 7800 7900 8000 8100
time in ensembles time in ensembles
bottom (-—k) LADCP depth (k) bottom distance (.b)
T T T T T T T T T I
B bottom at: 4616 [m] ADCP was 10 m above bottom 7]
N e L L L 1 4 I - "

3150 3200 3250 3300 3350 3400 3450 3500 3550 3600
time in ensembles

Cut CTD profile best lag W: 11 scans ~ -11 sec. ¢:0.99508
\ R
| - down cast
RS
! o
| © 05
| e}
o
| % 0
| <
| 8
©
\ 7]
(2]
| >
! = upcast
\
0 1 2 3 10 20 30 40 50

Time in hours sample scans (b)ADCP (r)CTD



